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Corrigé — Mathématiques I1
Problem solving (V200)
Sections C et D

(2007)

=solue(f(B) =1 and f(11)=6 and d1f(11)=p
a=-43r and b=10/11 and c=1

l?(x)|a=T-25T and b=16/11 and c=1
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= 1/39.3;: 5+ tancd) x + 1
(14.5)°-(cos(45))

- 0466111772 %2 + x + 1

-1/2:9.8-x2
(14.5)% (cos(45))
Done

*cosC45)°2)+tan<45)¥x+1>2t (x>
DEG RUTD FUNC 7730

5 +tan(45)-x + 1 » L(x)

(M1 acbralcalclotherPranIolc1ean Up)

= - " = =
a 121 and b=10-11 and c=1

(14.5)%-(cos(4D)

Done
-5 d,
" £ |a=—z7 and b=168/11 and c =1 o (10x) 5 d1400) Biss
LX2+ 18-% .4 " solve(dit(x) =0, x) x = 18. 7270408z
: 121 1 = £(10., 727040816326) 6. 363520408
e Lo 16-x msolvelt(x) < 3, %)
W ) T | R Done % < 2.232263514 or x > 19.2218181%
soluvet{x><3, x>
AN DEG AUTH FUNC €730 FAIN DES AITD NC 11
£ S v (3 Fy FSw FEv ¥ H - - - F§ F&v
v §=—|Zoom|Trace|RearaphiMath|Draw|~ if vl_!:“lgz:-pr\ﬁrgmam gnIDElean UP[

x { 2.232263514 or x > 19.2218181%

- 4 v
. “? 9.8:x 5 +Lan(45) x + 1+ £
(15.5)*-(cos(45))
Done
= £(20) 4.683662851

= solve(t(x) =0, x)
%= =, 9622321384 or x=25.4775382¢
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1 sebralcalclotherPraniolciean up| |
" £(20) 4.683662851

= solve(t(x)=0, x)
X = =.9622321384 or x=25.477953826

- 2 ek
- 1’22 9.8-x =+ tan(32) x + 19 £(x)
(15.5)“ (cos(32))
Done
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